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B. BBIHIANE - BHEEHIEFE -
5. (A) Sure, I had.
(B) No, I haven’t done it.
(C) Of course, we did.
6. (A) Ijuststart in the eighth.
(B) I get good grades.
(C) Idon’tlike the gray one.
7. (A) You are right. I should wear that to swim no matter
how pretty | look.
(B) You can say that again. They make us look tall and
slim.

8. (A) Ithink he is a miner.
(B) Yes. Both of them are good men.
(C) lagree. He can’t be an engineer.

C. ERNHHEEENE - RBMEELEENEE -
9. (A) ltistoo long.

(B) It’s too expensive.

(C) Iltistoo tight.
10. (A) The colors are similar in different places.

(B) White color doesn’t mean bad in Japan.

(C) InJapan, people give the red envelope with money

inside to men for blessing.
11. (A) The man is a little not happy because of his wife’s
clothing.

(B) The wife is trying on shoes.

(C) The man hopes his wife wears the secondhand clothing.
12. (A) The price of the gift is too cheap.

(B) The gift is too heavy to carry.

(C) The idea of the gift is not good for lovers.

D. EREREHVES - BN EHEERNEE -
13. (A) OnJanuary 15 of the lunar year.
(B) On May 15 of the lunar year.
(C) OnJuly 15 of the lunar year.
14. (A) Wedding dresses.
(B) Jeans and T-shirts.
(C) Underwears.
15. (A) They bought new furniture.
(B) They got the furniture from their parents.
(C) They used the secondhand furniture.

T GREIBR ¢ 3ENIBR 80% (16-25, FHE 3 47
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16. To save the earth and money, the paper can be
Don’t throw it away.
(A) recorded (B) homemade (C) reused (D) hunted
17. Water is a recycling natural and important for
people. (A) resource (B) ash (C) wave (D) shower
18. It’s for Betty to come home so late. Her parents
are very worried.
(A) often (B) pleasure (C) easy (D) unusual
19. MRT and HSR are the main public for the big
cities. (A) traffic (B) railways (C) transportation (D) systems
20. Don’t pollute our and be friendly to it forever.
(A) home (B) school (C) country (D) environment
21. The necklace with the jewelry is precious and
beautiful.
(A) designed (B) mixed (C) packed (D) dropped
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22. Riding a bike on the is dangerous for the

pedestrians.
(A) outdoor (B) sidewalk (C) hell (D) station
23. When we climb to the higher mountains, it’s hard to

deeply.
(A) sleep (B) breathe (C) jump (D) drop
24. It’s a happy for us to put together with our family

on New Year’s Eve.
(A) fashion (B) difference (C) moment (D) calendar

25. He’s a genius and always the great ideas.
(A) holds on (B) hunts for
(C) leads the way for (D) comes up with

26. |1 didn’t eat out with Kathy because | my dinner
before she asked me.
(A) was having (B) would have
(C) have already had (D) had already had

27. Bill likes to people chat.

(A) hear (B) see (C) look (D) listen to
28. No one in the office noticed the stranger out the

file on the desk.
(A) takes (B) taking (C) taken (D) to take
29. We Maria the violin at the party.
She played it beautifully.
(A) had ; play (B) had ; played
(C) asked ; play (D) made ; to play
30. After 4 hours running around the park, Lisa

(A) tired (B) looked like tired
(C) looked tired (D) felt like tired

31. You should clean your bedroom and for the
coming New Year.
(A) tidy it up (B) clean up it
(C) run out it of (D) put away it

32. For my birthday, the cake by Mom at the
kitchen now. | feel happy.
(A) was made (B) is being made
(C) has been made (D) will be made

33. Eating out in a restaurant is different from at
home at a food stand. We should behave
ourselves.
(A) either eat ; or eat (B) either eating ; or eating

(C) not only eat ; but also eating
(D) neither to eat ; nor eating
34. The girl doesn’t want to cook lunch by her
mom, so she does herself first.
(A) to ask (B) asking (C) being asked (D) to be asked
35. Not only Sarah but also | good at playing online
games before.
(A) was (B) are (C) has been (D) were

BRI TCRT

Jessica and Mandy learned a lesson today. This morning,
their mom 36 . Theirmom __ 37 breakfast
before they got up. Mom had them buy tea bags for the

afternoon tea. When they arrived at the market, they saw a

clerk 38 the jeans at a lower price. The clerk let
tthem 39 the jeans. They were excited about the
jeans.

Asit__ 40  dark, they went home. They carried
only new jeans without the tea bags. Mom was mad and
asked them to go back the store. Now they know they should
always go on their missions first and do other things later.

36. (A) woke them up (B) woke up them (C) got up them
(D) got them up

37. (A) has prepared for (B) had prepared for
(C) was prepared for (D) had them prepared

38. (A) to sell (B) has sold (C) selling (D) sold

39. (A) tryon (B) trieson (C) trying on (D) to try on

40. (A) saw (B) got (C) made (D) looked like

R S
(—) “Blowing in the Wind” lyrics

(Linel)  How many roads must a man walk down
Before you call him a man
Yes, and how many seas must a white dove sail
Before she sleeps in the sand

(Line5)  Yes, and how many times must the cannonballs fly
Before they’re forever banned?
The answer, my friend, is blowing in the wind
The answer is blowing in the wind

(Line 9)  Yes, how many years must a mountain exist
Before it is washed to the sea?
Yes, how many years can some people exist
Before they're allowed to be free
Yes, and how many times can a man turn his head
And pretend that he just doesn’t see ?
The answer, my friend, is blowing in the wind
The answer is blowing in the wind

(Line17) Yes, how many times must a man look up
Before he can see the sky?
Yes, and how many ears must one man have
Before he can hear people cry?

Yes, how many deaths will it take till he knows
That too many people have died?

The answer, my friend, is blowing in the wind
The answer is blowing in the wind

--By Bob Dylan

tone % % rhymed v 35 cannonball jnEm ban %%
pretend {2 lyric BR&A exist {7£1E
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41. Which pair of words are NOT rhymed?
(A) Lines 1 and 3: down, sail.
(B) Lines 2 and 4: man, sand.
(C) Lines 7 and 8: wind, wind.
(D) Lines 10 and 12: sea, free.
42. What does the writer try to say at line 5 and 6?
(A) He hopes people ban the cannonballs flying
(B) He told us to fight for solving quarrels.
(C) He desires peace not war.
(D) He gives an advice making more cannonballs for
safety.

43. What does it mean “ The answer is blowing in the wind.” ?

(A) There is not a right or wrong answer.
(B) The answer is lost and never comes back.
(C) Only the writer’s friend knows the answer.
(D) “ Wind” is the best answer to the questions.
44. What is the tone of the lyrics?

(A) Easy.

(B) Questioning.

(C) Rock rolling.

(D) Exciting.
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The EPA’s Air Quality Index on 11:38,12/12/2017
There would be the similar air quality for next one week.

Sources of PM2.5 in Taiwan

21%
Transportation

18%
Industries

24%
Others

During these days’ smog in Taiwan, the chart showed
the report which gives the percentage of the origin of PM 2.5
in Taiwan.

The data and record on pollution from the professor,
Lance Wu (£ £ %)

According the index and the chart, answer the following
questions.

45. TSM company will have a marathon race on 12/15. Where
is the worst place for the race ?
(A) Kiman Island (B) Eastern coast
(C) Northern Taiwan (D) Southwestern Taiwan.

46. What should the EPA remind people in Kaohsiung as the

thick smog covered this city?

(A) Avoid outdoor activities and wear protective masks
when going outside.

(B) Wear the safety helmets when doing outdoor activities.

(C) Puton the heavy coat when going outside.

(D) Prepare for the reused bag when going out for
shopping.

47. Read the chart. What is the origin of PM 2.5 air pollution

in Taiwan during these days?

(A) The largest source of PM 2.5 air pollution is from
motorcycles, cars and buses.

(B) The most PM 2.5 pollution is from the power plants.

(C) The largest single source of PM 2.5 air pollution is
blowing from China.

(D) The air pollution is from the kitchens of local houses.

EPA 7% i% % index 45 #ic
chart B % origin 4= a

hazardous /& * smog "% 7%
industry T8
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“Wonder” is a 2017 American movie directed by
Stephen Chbosky, based on the novel of the same name.

The movie follows a child , August Pullman, with Treacher
Collins syndrome.

August “ Auggie”, is a fifth-grade boy living in North
River Heights in upper Manhattan. For the syndrome, he has a
rare medical facial deformity. Due to many surgeries,

Auggie had been homeschooled by his mom, Isabel. As Auggi
is at middle school age, his parents decide to enroll

him in Beecher Prep for the start of middle school. Auggie
has many scars left on his face. His school life is very hard
because he looks so different from others, making him to be
bullied easily.

Through the experiences of August and other teenagers
in the film, audience can take a deeper look at bullying and its
victims, and know how much effort his parents have made for
their son. At the year’s end during the graduation ceremony,
Auggie has been selected for the Henry Ward Beecher Medal
for standing out. Auggie receives a standing ovation, and the
movie ends with everyone applauding. His mom, Isabel,
comments on Auggie being a wonder.

The movie is about a cruel joke that fate plays on him but
love changes it into an unbelievable miracle.

medical 8822y facial gaiprg  syndrome sk surgery F-iy

enroll :if scar Jg bully 2 audience &
ceremony #iy®  victim =% medal #)E= ovation 14y

applauding 5%  miracle Z7ik

48. What does the word “deformity” mean ?
(A) Hurt.
(B) Dirty.
(C) Sick.
(D) Not perfect.

49. How is Auggie’ s middle school life?
(A) He’s popular at the start of middle school.
(B) He hardly gives up his middle school life.
(C) He’s bullied easily because of his scars on face.
(D) It’s exciting and surprising for Auggie

50. Why does Isabel comment that Auggie is a miracle?
(A) Because Auggie stands out at the end.
(B) Because Auggie lives longer.
(C) Because Auggie makes a show.
(D) Because Auggie is different from others.
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